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1. Write the successor of each of the following numbers

a) 5675

d) 999

2. Write the predecessor of each of the following numbers

a) 2345

d) 99899

Number System - 8

b) 6754

e) 39999

b) 1000

e) 68888

3. What comes before and what comes after?

a)

b)

c)

d)

f)

4. What comes between the two humbers

2345

9999

19871

25525

67856

88888

a) 2345
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2347

b) 999

c) 22987

f) 86756

c) 8999

f) 36000

1001
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c) 8887 8889 d) 21200 21202

e) 35555 35557 f) 99997 99998

5. Mark True or False.

a) The greatest 3 digit number is the predecessor of the smallest 4 digit number.

b) The smallest 3 digit number is the successor of greatest 3 digit number.

c) The smallest 5 digit number is the successor of the greatest 4 digit number.

d) The largest 4 digit number is the predecessor of the smallest 5 digit number.

e) The largest 4 digit number is the successor of the smallest 5 digit number.
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